Feed Track Assembly 8535471 and
Base Assembly 853542—1 for MTA-.156
Closed-End Receptacle Connectors

ANIP

instruction Sheet

408-9637

{was 1S 9637)
03APR GG RevA

Reel Reel Brake
Electric Power Support Flange {Not Shown)
Unit 9318001 Shaft
(Ref}
Product
/ Reel
}Niren / Reel Support
neerter Pawl Slide Bracket
Feed Slde Feed Track
Locating Assembly Guide Plate
Pawl
o Pulley /‘
Adjuster P e
{Not Shown) o
>
Stock
Knurled Guide
Knobs

Base Assembly

Figure 1

1. INTRODUCTION

This instruction sheet covers the operation and
maintenance of AMP* Feed Track Assembly
853547—1 and Base Assembly 853542—1, designed
to terminate,unstripped wire (18-22 AWG) in AMP
MTA—.156 Closed—End Receptacle Connectors. The
feed track assembly is used in AMP Electric Power
Unit 9318001 (409-5746) or AMP Bench Mount
Power Assembly 58338—1 (408—9393). Refer to the
instructions packaged with the power assemblies for
feed track assembly installation and removal.

Read these instructions carefully before terminating
any connectors.

Reasons for reissue are in Section 8, REVISION
SUMMARY.

All dimensions are in millimeters [with inches in
brackets].

2. DESCRIPTION (Figure 1)

The feed track assembly terminates unstripped wire
in four types of MTA—.156 Closed—End Receptacle
Connectors: connectors with locking ramp without
polarizing tabs; connectors with locking ramp with
polarizing tabs; connectors without locking ramp
without polarizing tabs; and connectors without
locking ramp with polarizing tabs. The connectors
contain slotted contacts on 3.96—mm [.156—in.]
centers. See Figure 2.

The wires are terminated in the connector using the
Insulation Displacement Contact (IDC) terminating
technigue, which is a method of inserting unstripped
wire into a slotted contact beam to form a reliable
electrical connection between the conductor and the
contact.

S

AMP Incorporated, Harrisburg, PA 17105  TOOLING ASSISTANCE CENTER 1-800-722-1111  AMP FAX*/PRODUCT INFC 1-800-522-6752

10f 9

Thig AMP controlled document is subject to change. For latest revision call the AMP FAX number.

@Copyright 1996 by AMP Incarporated. All Rights Reserved.
“Trademark

LOCB



AP MTA-.156 Feed Track Assembly 8535471 408-0637

MTA-.156 Receptacle Connectors

(Closed—End Style Oniy)
Locking Polarizing
Ramp Tab
With Locking Ramp With Locking Ramp Without Locking Ramp Without Locking Ramp
Without Polarizing Tabs With Polarizing Tabs Without Polanizing Tabs With Polarizing Tabs
CLOSED-END STYLE CLOSED-END STYLE
WIRE SIZE COLOR WITH LOCKING RAMP WITHOUT LOCKING RAMP
(AWG) CODE
WITHOUT WITH WITHOUT WITH
POLARIZING TABS | POLARIZING TABS | POLARIZING TABS | POLARIZING TABS
18 Orange 640472 644878 640477 —
20 Yellow 640473 — 640478 —
22 Red 640474 644783 840479 6447H
24 White 640475 — 640480 —
26 Blue 640476 — 640481 —

MTA~.156 Feed Track Assembly 853547t will also run the loose—piece connectors listed in the instruction sheet (408-0466) for MTA—.156
Feed Track Assembly 933568—1.

Figure 2
After the feed track assembly is installed into the 3. SETUP INSTRUCTIONS
power unit, it serves as a guide and support for the
connector during termination. Features of the feed 3.1. Base Assembly
track assembly (see Figure 1) and their functions are 1. Assemble the ree! support bracket to Base Plate
as follows: 8535431 using two 1/4—20 x .50L socket head

cap screws {provided).
Wire Inserter — forces wire into the two siotted
beams of the contact. Note that it provides support for
the contact beams when applying insertion force on
the wire.

2. Assemble the guide plate to the reel support
bracket using two 10-32 x .38L socket head cap
screws (provided).
3. Mount the base assembly to a workbench using
Adjuster (Insertion Rod) — acts as a piston for — and 25 in. dia fasteners (not provided).

jat | of—wire ins :
reguiates trave nserter 3.2. Feed Track Assembly

Feed Slide— automatically advances the connector 1. Loosen the knurled knobs on the feed track
after each termination. assembly.
2. Slide the feed track assembly into position on
Locating Pawi— aligns connector for insertion and the base assembly. The threaded portions of the
prevents the connector from moving out of position knurled knobs fit inte slots on the base assembily.
during the termination. 3. Tighten knurled knobs.
Paw/ Slide — maintains a force against the connector 4. Pull out clip on power unit and slide power unit
to permit feeding. onto the Head 933808—1 of the feed track
assembly.
Feed Track — serves as a storage area for 5. Pushin clip to secure the power unit to the track
connectors. assembly.

ﬁ

20f9 Rev A



ANIP

8. Tighten screw on the power unit to secure the
head.

3.3. Product Loading

1. Remove the flange from the base assembly.

2. Slide the reel onto the reel support shaft. The
mating face of connector must face operator. The
holes in the reel should engage the adjustable reel
brake.

3. Unreel some product around the stock guide
and into the infeed guide on the track assembly.

4. Continue to feed product into the track.

5. Note that there is a slot located in the rear of the
track by the track cover. Separate the tape from
the product and place the tape in the slot.

6. Place the tape around the pulley one—half turn
and feed tape through the hote on the front of the
base plate of the base assembly.

7. Pull on the tape to feed product down the track
and into the insertion area.

The sticky side of the tape must face away from
the pulley.

8. Center the first position of the connector to be
terminated in the wire insertion area.

MTA-.156 Feed Track Assembly 8535471
M

4089637

9. Puli the pawl slide to the right until it reaches the
spring pin which acts as a stop.

3.4. Connector Termination Test

1. Determine the wire size and select the
appropriate connector. (Connectors are
color—coded according to the wire sizes they
accommodate.)

2. Use a small knife to cut off wire retainers (strain
relief). This will provide a clear view for inspecting
the connector for a properly terminated wire in the
contact. See Figure 3.

3. Place connector in feed track assembly
and make a test termination using procedure
described in Section 4, TERMINATING
PROCEDURE, Steps 1 through 4.

4. Push connector out of left side of head.

5. Inspect the termination according to Section 5,
TERMINATION INSPECTION, to ensure that the
conductor is terminated past the lead—in transition
and is positioned about half—way into the contact
slot. The insulation should be 2.03 to 2.54 mm
[.080 to .100 in.] beyond the front contact beam.
See Figure 3.

Test Connector

Contact
{Partially
Removed)

Contact

Production Connector

Locking
Ramp Wie Slot
Retainer
{Removed)
Front
Beam Correct
Figure 3

Rev A

Jof9



ANMIP

MTA-.156 Feed Track Assembly 8535471

408-9637

For the bench mount power assembly only — if,
after inspection, it is determined that the wire is
not inserted deeply enough, increase the air
pressure by 69 kPa [10 psi]. Repeat the
termination and inspection procedure until either
the proper insertion depth is obtained, or the air
pressure is set to 483 kPa [70 psi). If proper
insertion depth is not achieved at 483 kPa

[70 psi], return the air pressure fo 276 kPa

{40 psil and folfow the adjustment in Paragraph
3.2, Wire Insertion Depih Adjustment.

3.5. Wire Insertion Depth Adjustment

The adjuster (insertion rod) of the wire inserter is
preset for the particular wire size used. If the wire is
being inserted too deeply or not inserted deeply
enough inside the contact, it may be necessary to
adjust the depth of the wire inserter.

Care must be taken when making adjustments to
the adjuster to avoid overstressing the head or
power unit. Carefully insert the wire into the
contact slot and adjust until the proper insertion
depth is obtained.

A. Wire Too Deep in Contact Slot

if the wire is inserted too deeply, remove the head
and turn the adjuster 1/6 turn CLOCKWISE (see
Figure 4). This will reduce the wire insertion depth by
approximately 0.20 mm [.008 in.].

B. Wire Not Deep Enough in Contact Slot

If the wire is not inserted deeply encugh in the contact
slot, remove the head and turn the adjuster 1/6 turn
COUNTERCLOCKWISE (see Figure 4). This will
increase the wire insertion depth by approximately
0.20 mm [.008 in.].

Turn Clockwise
to Reduce Wire
Insertion Depth

Tumn
Counterclockwise
for Deeper

Wire insertion

Adjuster

NOTE: 1/6 turn equals 0.20 mm [.008 in.] adjustment.
Figure 4

40f9

3.6. Feed Adjustment

A socket head adjustment screw, located on the left
side of the housing insert, controls the location of the
feed slide. If the screw is positioned in too far, the
pawl on the feed slide will not engage in the
connector housing and the housing will not advance.
If the screw is out toc far, the feed slide will back up
until the pawl engages, and thus will incorrectly
position the contact to be terminated. Adjust the feed
slide by turning the adjustment screw either in or out
until it aligns the contact with the inserter and
engages the locator pawl in the connector housing.
The following three observations are made when the
feed slide is adjusted correctly:

1. The inserter is aligned with the contact to be
terminated.

2. The locator pawl is engaged in the housing.

3. No movement of the housing occurs as the
power unit is actuated.

4. TERMINATING PROCEDURE (Figure 5)

1. Load the feed track with connectors as
described in Section 3.3, Product Loading.

2. Insert an unstripped wire into the funnel area
between the contact and wire inserter until it
bottoms in the head.

3. Depress the foot switch to crimp the wire to the
contact. The wire inserter will retract and the feed
_ slide will automatically advance the connector to
the next contact position.
The locating paw! will move up and down as the
connector is automatically advanced through the
head. However, if movement is obsiructed, or if
desired, the locating paw! can be depressed and
the connector moved manually out the LEFT side
of the head.

4. Repeat Steps 2 and 3 until all contacts have
been terminated.

9. Inspect each termination according to the
procedure in Section 5, TERMINATION
INSPECTION.

6. Repeat Steps 2, 3, 4, and 5 until approximately
63.5 mm [2.5 in.] of connectors remain in the feed
track.

7. Pull on the tape to reload the track with product.

Rev A



ARNIP MTA-.156 Feed Track Assembly 8535471 408-9637
Electric Power
Unit 9318001
(Ref)
MTA-.156
Closed—End
Receptacle
Connector
(Ref)
Funnel Area Between Contact
and Wire Inserter
Contact Aligned
with Wire
Inserter Unstripped
Wire
% ~
Figure 5 90-241

When loading the track with product, leave
approximately 6.4 mm [.25 in.] gap between
product already in the feed track and new product
being fed. Having no gap may result in
connectors not being properly located in the
fermination area.

8. Pull the slide pawl to the right until it reaches the
spring pin which acts as a stop
Hold onto the slide pawl as it is being moved
along the feed track. A sudden release of the
slide paw! will move connectors beyond the
termination area.

5. TERMINATION INSPECTION (Figure 3)

AMP Application Specification 114—01020 lists the
information necessary for termination inspection.
Figure 3 represents properly and improperly
terminated contacts which should be inspected as
follows:

1. Make sure the conductor is terminated past the
lead—in transition and about halfway in the contact
slot.

2. The insulation should be 2.03 to 2.54 mm [.080
to .100 in.] beyond the front contact beam.

3. The wire is NOT bottomed in the contact slot.

4. The contact beams are NOT deformed. If
damage is apparent, replace the contacts
according to the instructions packaged with the
connector.

5. The insulation is NOT nicked or cut in any area
other than the two wire slots.

6. The wire extends below the strain relief features
of the connector.

6. INSPECTION

AMP recommends that the feed track assembly be
inspected immediately upon its arrival at your facility
to ensure that it has not been damaged during transit.
Customer—replaceable parts are listed in Figures 6
and 7. When parts are needed, order by part number
and description from:

CUSTOMER SERVICE (38-33)
AMP INCORPORATED

P.O. BOX 3608

HARRISBURG, PA 171053608

#

Rev A

50f9



ANIP

6.1. Daily Maintenance

it is recommended that each operator be made aware
of — and responsible for — the following steps of
daily maintenance:

1. Remove dust, moisture, and other contaminants
with a clean brush or a soft, lint—free cloth. Do
NOT use objects that could damage the feed track
assembly.

2 Make sure all components are in place and
properly secured.

6.2. Periodic Inspection

Regular inspections should be performed by gquality
control personnel. A record of scheduled inspections
should remain with the track assembly and/or be
supplied to supervisory personnel. Though
recommendations call for at least one inspection a
month, the inspection frequency should be based on
the amount of use, working conditions, operator
training and skill, and established company
standards. These inspections should include a visual
inspection and should be performed in the sequence
shown in Section 6.3, Visual Inspection.

6.3. Visual Inspection

1. Remove dust, moisture, and other contaminants
with a clean brush or a soft, lini—free cloth. Do
NOT use objects that could damage the feed track
assembly.

2. Make sure all components are in place and
properly secured.

3. Check for chipped, cracked, worn, or broken
areas. If damage is evident, repair is necessary.
See Section 7, REPLACEMENT AND REPAIR.

6ot9

MTA—.156 Feed Track Assembly 8535471

#—

408-9637

7. REPLACEMENT AND REPAIR

AMP recommends that certain replaceable parts be
stocked by the customer to prevent loss of production
time. The parts listed in Figure 6 can be replaced by
qualified personnel at your production or tool repair
facility.
When replacing components in the MTA Head

Assembly, the customer can: 1) order the head
with a single part number and receive a
complete, tested MTA head that is ready for
installation into the feed track; or 2) purchase
individual components that make up the head
assembly. AMP recommends stocking a single
head assembly.

If it is necessary to return the tooling for repair, send
the tooling with a written description of the problem to:

CUSTOMER REPAIR (01-12)
AMP INCORPORATED

1523 NORTH 4TH STREET
HARRISBURG, PA 17102—-1604

8. REVISION SUMMARY

Since the previous release of this sheet, the following
changes were made per EC 0990-0200-96:

» Added reference about Bench Mount Power
Assembly 58338—1 (408-9393)

 Added connector styles and part numbers to
Figure 2

s Added MTA—.156 Head Assembly 318863—1

* Updated format

* Added metric units

Rev A



AP MTA-.156 Feed Track Assembly 8535471 4089637

......

- ==L it
- — it : i
N | i PP T S P rrwy LV Pure T U
—= -~ 3 - x ' ] [
3 H :
22t 82 | .
| !

10

Section A=A

+000 /I
51.56 ey
/1N +.000
[2'030 ~010
in MTA—.156 Head Assembly

= Cf 318863-1. Insertion Head
M ! Assembly 3188631 can be

™ ordered, stocked, and replaced

G \® as a single, tested unit.

Adjust Item 281 for initial setting.
Reference Paragraph 3.5 for
final adjustment procedure.

during component replacement.

“t" indicates those parts included

i i Lubricate with EP Lithium grease

20
MTA .156 Head Assembly 3188631 Weight: 1641 g [3 Ib. 10 0z.)
Figure 6 {cont'd)
L T

Rev A 7of9



ARNIP MTA-.156 Feed Track Assembly 8535471 408-9637
. _ S
REPLACEMENT PARTS 8535471
ITEM PART NUMBER DESCRIPTION QTY PER ASSY
1 4-22430-9 SCREW, Machine 4-40 UNC x 1.00 2
2t 9338081 HEAD 1
3 9835331 PULLBOX 1
4 2-223464 SCREW, Thumb, Knurled 1
5 1-21002-4 SCREW, Btn Hd Cap, (No. 4-40 UNC x .38) 2
8 5-21028—1 PIN, Slotted Spring 1
7 8535481 SLIDE, Pawl 1
8 8535501 TRACK 1
9 8535511 PAWL 1
10 5210289 PIN, Slotted Spring 1
i1 1-21000-8 SCREW, Skt Hd Cap, (No. 6-32 UNC x .25) 4
12 9812621 KNOB, Knurled 2
13 2—23057-3 PLUNGER, Ball 1
14 8535521 GUIDE, Slide 1
15 8535531 GUIDE, Infeed 1
16 3-21000-5 SCREW, Skt Hd Cap, (No. 10-32 UNF x .50) 2
17 3-21000-4 SCREW, Skt Hd Cap, (No. 10-32 UNF x .38) 2
18 27210-5 SCREW, Shoulder 1
19 3138141 HOUSING, Insert 1
20t 222789 SPRING, Compression 1
21 7685312 PAWL, Locating 1
22¢ 4-22430-8 SCREW, Machine {No. 4-40 UNC x .88) 4
23t 1-21010-9 SCREW, Skt Set (No. 440 UNC x .125) 1
241 210417 PIN, Spiral Spring 1
251 3121921 PAWL, Finished Feed 1
26t 3121541 INSERTER, Wire 1
27t 1-22488-5 SPRING, Comprassion 1
28t 312149 ADJUSTER, Rod Inserter 1
29t 3121481 ROD, Inserter 1
30+ 3210282 PIN, Slotted Spring 1
31t 7685302 CAM, Traverse Slide 1
32t 1231472 SPRING, Compression 1
33t 312151 SLIDE, Feed 2
34 21024-3 WASHER, Lock No. 6 1
35 21018-6 NUT, (No. 8-32 UNC) 1
36 8535541 COVER, Track 1
37 22925-2 FOLLOWER, Cam 1
38 210187 NUT, Hex, 10-32 1

+ Parts included in MTA—156 Insertion Head 318863-1. Insertion Head 3188631 may be ordered, stocked and replaced as a complete,

assembled unit.

8of9

Figure 6 (end)

Rev A



AmMpP

MTA-.156 Feed Track Assembly 8535471

Base Assembly 853542—1

12

408-9637

REPLACEMENT PARTS
ITEM PART NUMBER DESCRIPTION QTY PER ASSY
1 B853543-1 PLATE, Base 1
2 288592 NUT, Pusn—On 1
3 8535441 PULLEY 1
4 4555841 BRACKET, Reel Support 1
5 3210004 SCREW, Skt Hd Cap, (No. 10-32 x .38} 4
] 4702681 STOCK, Guide 1
7 4655862 SHAFT, Reel Support 1
8 2-22789-6 SCREW, Thumb, {No. 1/4-20 UNC x .50} 1
9 4655201 FLANGE 1
10 689693-2 ADJUSTABLE REEL BRAKE 1
1 3210015 SCREW, Skt Hd Cap, {No. 3/8-16 UNC x 1.00) 1
12 8535451 PLATE, Guide 1
13 210012 SCREW, Skt Hd Cap, {Ne. 1/4-20 UNC x .50) 2
14 210657 WASHER, Flat 2

Rev A

Figure 7

90f9



